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OO0O0000 OO0 SETSERVERIUTPUT ON DECLARE
v_ename EMP.ENAME%TYPE. v_salary EMP.SALARY%TYPE.
CURSOR ¢_emp IS SELECT ename,salary FROM emp. BEGIN
OPEN c_emp. FETCH c¢c_emp INTO v_ename,v_salary.

DBMS OUTPUT.PUT_LINE(Salary of Employee|| v_ename |[[is]|
v_salary). FETCH c_emp INTO v_ename,v_salary.

DBMS OUTPUT.PUT_LINE(Salary of Employee|| v_ename |[[is]|
v_salary). FETCH c_emp INTO v_ename,v_salary.

DBMS OUTPUT.PUT_LINE(Salary of Employee|| v_ename |[[is]|
v salary). CLOSEc emp. ENDO U O UOOUOOUOOOOOOO
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SERVERIUTPUT ON DECLARE v_ename EMP.ENAME%TYPE.
v_salary EMP.SALARY%TYPE. CURSOR ¢c_emp ISSELECT
ename,salary FROM emp. BEGIN OPEN ¢_emp. LOOP FETCH
c_emp INTO v _ename,v_salary. EXIT WHEN
c_emp%NOTFOUND. DBMS OUTPUT.PUT_LINE(Salary of



Employee|| v_ename ||is|]|v_salary). END O O OO OO0 0O OO
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SET SERVERIUTPUT ON DECLARE R_emp EMP%ROWTYPE.
CURSOR c_ emp ISSELECT * FROM emp. BEGIN OPEN ¢_emp.
LOOP FETCH c emp INTO r_emp. EXIT WHEN
c_emp%NOTFOUND. DBMS_OUT.PUT.PUT_LINE(Salary of
Employee||r_emp.ename||is|| r_emp.salary). END LOOP. CLOSE
c_emp.END. %ROWTYPEL U O U O UOOOOOOOONOMO
Jododododod SETSERVERIUTPUT ON DECLARE
CURSOR ¢_emp IS SELECT ename,salary FROM emp. R_emp
c_emp%ROWTYPE. BEGIN OPEN ¢c_emp. LOOP FETCH c_emp
INTO r_emp. EXIT WHEN ¢_emp%NOTFOUND.
DBMS_OUT.PUT.PUT_LINE(Salary of
Employee||r_emp.ename||is|| r_emp.salary). END LOOP. CLOSE
c emp.END.100Test U D O DO O OO OOOOOOONOMO
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